
���������	���
��������������
��������

�	����������	�������

�����

���������������������  !

���������	
�	����	
��
��	
������

�������

��������	
�����

�����������������
���������	
�����

�	���������	
����������
����������
���

�������
�����������
���
������	�
�������������
	

�����������������
���
������	�
���������

�����
�������
��

�� � �� � ����� � ���
	��� �� � �� � ��� �� � �!	�

∀��##�∃�%���#���������&∋%�&����!	������#��

�� � �� � ���(%���� � �!	 � ����)���&∗� � ���

�&���&��� � �!	 � +��&���� � �� � ∋&����#%���

&,����−��������
	�

��� ��&������� +&���� ��!	� �∀�� �� ���%(%�����

��� ��� ���#�&�� ��� �������� �∀%�&����� ��!	��

∋�∗∗��� � ∋������� � �&���).�&∀���� � ���&#�)

�������� � �� � ��&��� ��� � ��������� ��!	� � ���

∗#�&#� � ���%��&��� � ��� � ����%��� �����&����

∋���∗∗����!	�∀��∀�&�������	�//	
������0�1��2�

 ���
���!�
���	

���	
�	��

�!	����∋&(���3��!	�+��&���

�������&��3����∀%�&����

�������&����3�����&���&��

�//	���%����3���������� ��

∀#∃�%

����������������	


�����


	�
����������∀�

�  !�

��������������




	�
����������∀��  !���������������

&���	��������
����∋���∀()∗∀(&

�	����,4	−��∋
�!�−�5��1
61�
6��1��
�/7	2	
0�0	��������������−�1
6�	�−6��,����/	��,�0�!	�−��

����−��������−	�,7�00�!1�4�	!	�−�
60�1�−�/	�/	���
�	�−�−�����1
��	��	−�1
60��	�/	��08��2�

�	
���	
����	�	�	
�� ����+��

� ��7�,�1−	
�/	���,4	−�∋
�!�−�5�&��������	!	�−

���������	�������	����������������������������#�∃����%���	��&��∋�(�

%��
����������& � �� � �) � ��	������∗ � 
) � �������∗ � �) � �� � �����∗ � ∀)�)�

��	+��	∗�,)��������∗��)�
	�
��

��	���������������∀������∀����

∀��∋�−��.�∋��/∗�0��1����������  !

��������

2���3�������������+



����������	
���
����

�������������������������
�����
�	��	����������������

�����
�	�����
	��
��
������

�	��

������	� !∀!�!#
���

�∃∃%�	&∋∋�

�������	
��
��
���������������
����
�	��
���
���
�
�����	
����
����	�
�����
������������������������������������

����������
��� �
�� �!���������!
��	�����������������!
����		
��
�����
����� ��
���������������������
∀

�#∃%&��#��%∋()&�∗&���������(



��+��

��	)	������������	∗�������	��	���∗�� ��

���	�+�������� �,

�−����������

�

�

�

�

. . .

∋/∋∋ ∋/∋∋

∋/∋∋ ∋/∋∋

01!	�%#!2!�3 01!	�42%��∃�3

, , ,

��������������

. . .

∋/∋∋

01!	156��	∃%�7�!#3 01!	156��	851!�!#3

, , ,

�����

�����	��	���∗��	093

��������	��	��	

��
����

���−����������

��
�����	��	��	

��
����	

���−����������


������	��	
��
����������	

�����	��	�����	��	�������	

���∗��	0,3
:�:;&∋∋/∋∋ :�:;&∋∋/∋∋

�

�

�

�

�
�

������	�	��������	0�����3	��	

�+�−��
�
�	���
�����	0&3

∋∋&	��������	��	


��
����������	�������	0&3

�����	��	��	��
����	

���−����������	093 :�:;&∋∋/∋∋ :�:;&∋∋/∋∋

��������	��	��	

��
����

��	��������������

��
�����	��	��	

��
����

��	��������������

�

�

�

�


������	�+��������������	0,3	

�����	��	�����	��	�������	

���∗��	0<	25∀8 !1	6�1	25∀8��1	,∋=�	��	

,∋=:3

>&:;∋∋∋/∋∋ �=�;?�?/=?

�
�

�

�

�

�

������	�	��������	0�����3	��	

�+�−��
�
�	���
�����	0&3
,;=,,;::,/∋: :?&;??:/9:

∋∋,	�����	�+�−�
�����	��	��	

��
����	�+��������������	

�������	0&3

9∋&;9>>/∋9

�����	��	��	��
����	

�+��������������	093 &;,9�;::,/∋: &;,9�;::,/∋:

&;�::;∋:,/∋: &;�::;∋:,/∋:

����∋�����!
��	���������

��������������������
�	���
�����−���������������
�����
��
��
����	
����!�����
∀�∗
��.�
��	����

��
���������������������
��
��

����!
����		
��
�����
��

��������������������
�	���
�����−���������������
�����
�
/���	
����!�����
�
�����������������
���
�−�������
��
�
���������
��������.�
�
−
����
∀
����∋��
��������0�
�
���
�������
��
	���
��
������
������
�
/
−
����
�	�����
����������	�1��

����
�������	�
���������������������
��
�����
��
	���
�������	�
��
������
����∀
�����
���
������� 
−	
����������

��2∋2������������������	���
 
��
��

��
����	
��
��
�!�!�
��
���/�3����	���������
�
��4��
����
�
��������������
���
��
�
 
−
����
�	�����
��∀�&���
�
��
����
�� �!����
���
�
��
���
�����
��� �3����	���������
�
��4�
 ���������� ���
����
������5����
�
 
−
����
�	�����
��∀
�����
���
�������/���
�����
�
����

��2∋2�����
�	���
�����−���	
��
��
�!�!�
�������������
�������5����
�
/
−
����
�	�����
���
�



��0�/



���
�����
����
�
�����	����
�����
��
�!�!
�
����
����−��
�
��
���
�����
���/�3����	���������
�
��4�
/����������/���
����
������5����
�
/
−
����
�	�����
��∀
����%���
��
�
���
������� 
−	
���������,�2∋2�6�����
�����
	�����6���������� 
−	
��������������∀
%���
��
�
���
�������/���
�����
�
���,�2∋2�6���
�
��/
−���������
	�����6����������/���
�����
�
��������∀
%���
�������!
��,�%���
��
�
���
������� 
−	
���������6�%���
��
�
���
�������/���
�����
�
��∀



��+��

��	≅	������������	∗�������	��	���∗�� ��

��
����	���−����������	)	
Α������� �&

��������	���−����������


Β78� �!Χ�66% ����	093
�����

0∆	���.Ε5��3

7�� �8��!
��4�������1�
�!�����
 7�77

�5�76	��1	�%8�∃1�1	��	��1�!5∃	��1	1� Ε!2�1 ∋/∋∋

99 �8��!
���������1�
� 7�77

�5�76	��1	�%8�∃1�1	 %�66�1	���4865!�7�!5∃ ∋/∋∋
.

��� ������	
���
�����
��	����	���
������	
���� 7�77

��� ����������������
��	����
��	
������
��	����� 7�77

��
�
���������	��������������� �
��
�
��	 ∋/∋∋

�����	 ∋/∋∋

6 6

�	∋∋&	��������	�������	��	����
���	0&3 ∋/∋∋
, ,

�����	���	��������	���−����������	
�������

��
�����	���−����������


Β78� �!Χ�66% ����	093
�����

0∆	���.Ε5��3

:7 ;
��
���
�	�������������0�����	�
���������< 7�77

:� ∃���
�������� 
−	
�������� 7�77

�5�76	��1	 �2����1	��	��1�!5∃	��1	1� Ε!2�1 ∋/∋∋

�5�76	��1	 �2����1	 %�66�1	���4865!�7�!5∃ ∋/∋∋

��� ����������������
��	����
��	
������
��	����� 7�77

��
�
���������

�������������� �
��
�
��	 ∋/∋∋

����� ∋/∋∋

6 6

�	∋∋&	��������	�������	��	����
���	0&3 ∋/∋∋

, ,

�����	���	��
�����	���−����������	
�������

�5� 	!∃#5 ∀7�!5∃	Φ	

�5� 	∀%∀5! �	

�������	�	0,3

��1��1	Γ	 %76!1� 	

�≅,	0&3

� 5851!�!5∃1	

∃5�Ε�66�1

=�>=77�77 �?>�77�77 �?>�77�77 �?>�77�77

>�;>∋∋/∋∋ &:;&∋∋/∋∋ &:;&∋∋/∋∋ &:;&∋∋/∋∋

�=>777�77 �7>777�77 �7>777�77 �7>777�77

��;>∋∋/∋∋ �:;&∋∋/∋∋ �:;&∋∋/∋∋ �:;&∋∋/∋∋

���>=77�77 ��=>777�77 ��=>777�77 ��=>777�77

�=7>777�77 =9=>777�77 =9=>777�77 =9=>777�77

=�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

?�9;∋∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

�5� 	∀%∀5! �	

�������	�	0,3

��1��1	Γ	 %76!1� 	�≅,	

0&3

� 5851!�!5∃1	

∃5�Ε�66�1

:=7>777�77 =7�>�77�77 =7�>�77�77 =7�>�77�77

��>777�77 ���>777�77 ���>777�77 ���>777�77

?�9;∋∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋

?�9;∋∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋

�7=>777�77 �7=>777�77 �7=>777�77

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

?�9;∋∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

����
����
�����	������������	��∗�∗�	

��	���
��	��	��	��
����	

�+��������������	0,,3

>�>;∋∋∋/∋∋

≅
��/�!����	����������!
�������
���0��
���
���
���
������
��	��	�
������
�	�������4�
/
−���
����
��
�
�
��
����



��� 
−	
�������������

����	
��
����



���
����������
�
��∀�≅
��
���4�������
��

�
�
������
�
��������	���
��
�
���
��
�
��

������
��−����
�����
�
�����
�
����!�
∀

������∀�≅�Α�����
������
����
∀
����≅������
�
�������
��
	���
��
������
������
�
/
−
����
�	�����
�����	�1�����
�������	�
����������������������
	���
�������	�
��
������
�����∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
����∃��
����!�
��		
�0�
�

���!��
��
��	�����������
��+���!�����
��������0�
�	����
�������������−���	������������
������Β���
����������
��
���
�����8�����
����
��������
��
���
����

��������
�1�
��
�
�	
��
�
������−���	������������
�����	�
���
���
���
����−���	������������
�����	�
���������
��∀
�����
��8�	���
�� 
−���
�	���
������∀
��������	
����
��	�����
������������	����
������������	����
��������
������������
��������
�
�:���
��8�	���
�
−���
����0�
�
���
������������
�����∀
�?��∋��
��������0�
�
��������

�����
��/����������
������Β���

���
�����8��
��
�
/���
�����
�	
����
������	
�������������
�	����

���
�

���	����������/�����!
�
�����
�����
�
����Χ∋�<��	���
��


�����
�����
�������

�����
��
����!
������
−
�∀
�:��&����	
��
���

��8�	���
�����
����
�

��������−��/���
�����
�
������
���������

����
����
∆���
�����
�������∀�&���
�
��
���
��
����
��

�������8������
/����
�������
��

��������−�
��
�������������

−
����
�������
��∀
�?��∋��
��������0�
�
���
����	
��
��
���0�
�
����!�
�
��
���
���
����������������

�
��
�	1�
�����	�������/����
����
�	��
�������	
������
����0�/



����
�
���
���
�
��
���
���0�
�

��
����
�����
	
������
�����
∆������
����������
��
�	1�
���
�
��	�����
������


���������
�������8
�
��∀
����∃
�
�

�����
��
���	���������	�������	�
��
���
�����!��
������
�������������

������
�∋��
−
�≅;�∋:�∀
��7��)
����	�
��79��/
���	�������8�	���
��������������

�����8�	���
��7∀
�����∃�
�
��
�
/�	��������∗&�7���6�∗&�7���Α�2&�7��������
�
��
�
/�	��������2≅�7��6�2≅�7�7�Α�∗≅�7�7∀�



=�+��

��	)	������������	∗�������	��	���∗�� ��

��
����	�+��������������	)	
Α������� �9

��������	�+��������������


Β78� �!Χ�66% ����	093

�7 ≅�����
��������������	��



� 7�77

�� ≅�����
���������
�������

�5�76	��1	�%8�∃1�1	�+%Η�!8�∀�∃�

�9 &�	������
���
��
��������
�
� 7�77

�5�76	��1	�%8�∃1�1	#!∃7∃2!Ι �1 ∋/∋∋

�5�76	��1	�%8�∃1�1	 %�66�1	�+!∃Ε�1�!11�∀�∃�

��� ������������������������������������ ������� 7�77

��
�
���������	���������������	���
������	
 ∋/∋∋

�����

6

�∋∋,	�����	���−�
�����	��∗���
	�������	��	����
���	0,3 ∋/∋∋

,

�����	���	��������	����������������	
�������

��
�����	�+��������������


Β78� �!Χ�66% ����	093

�� ∃���
�������� ���
�����
�
�� 7�77 7�77 7�77

�9 &�	������
���
��
��������
�
�

�� ≅�����
���������
�������

�5�76	��1	 �2����1	�+%Η�!8�∀�∃�

�79 2��
��
����7� 7�77

�5�76	��1	 �2����1	#!∃7∃2!Ι �1 ∋/∋∋

�5�76	��1	 �2����1	 %�66�1	�+!∃Ε�1�!11�∀�∃�

�	� ! ��∀�������#������ ����∃�%�#� ��� ������

��� ������������������������������������ �������

��
�
���������

��������������	���
������	


�����
6

�∋∋,	�����	���−�
�����	������
	�������	��	����
���	0&3

,

�����	���	��
�����	����������������	
�������

�5� 	!∃#5 ∀7�!5∃	Φ	

�5� 	∀%∀5! �	

�������	0,3

��1��1	Γ	 %76!1� 	

�≅,	0&3

� 5851!�!5∃1	

∃5�Ε�66�1

�����

0∆���.Ε5��3

:�>==��79 +�:>=77�77 +�:>=77�77 ��>7=��79

=?9>�=9�=� �>=�7>����7� ��=>=77�77 ��=>=77�77 �>9==>?���7�

>:=;&>=/>� ,;=,,;::,/∋: ::;∋∋∋/∋∋ ::;∋∋∋/∋∋ ,;=��;::,/∋:

=�7>777�77 ��=>777�77 ��=>777�77 ��=>777�77

>,∋;∋∋∋/∋∋ &9>;∋∋∋/∋∋ &9>;∋∋∋/∋∋ &9>;∋∋∋/∋∋

,;∋�=;&>=/>� ,;=,,;::,/∋: 9&9;∋∋∋/∋∋ 9&9;∋∋∋/∋∋ ,;�9�;::,/∋:

�7=>777�77 �7=>777�77 �7=>777�77

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

,;∋�=;&>=/>� ,;=,,;::,/∋: >&:;∋∋∋/∋∋ >&:;∋∋∋/∋∋ &;,9�;::,/∋:

&;,9�;::,/∋:

�5� 	∀%∀5! �	

�������	�	0,3

��1��1	Γ	 %76!1� 	�≅,	

0&3

� 5851!�!5∃1	

∃5�Ε�66�1

�����

0∆	���.Ε5��3

��?>?:��== ��?>?:��==

���>�=:��: ���>�=:��: +?�>�99�?? +?�>�99�?? ���>��7���

�==>777�77 �9�>��:�=9 ��>777�77 ��>777�77 �:=>��:�=9

�=�;�>?/&? :?&;??:/9: ≅?>;�==/:: ≅?>;�==/:: ?�?;9,,/>∋

9�>??7�7� ��7>����== ��7>����== ��7>����==

=9;::∋/∋� &�∋;&,�/>> &�∋;&,�/>> &�∋;&,�/>>

>99;99?/9, :?&;??:/9: ,=�;?�?/=? ,=�;?�?/=? ,;∋9?;>&=/∋>

���>=77�77 ��=>777�77 ��=>777�77 ��=>777�77

�=7>777�77 =9=>777�77 =9=>777�77 =9=>777�77

=�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

,;&&=;:9?/9, :?&;??:/9: �=�;?�?/=? �=�;?�?/=? ,;:9?;>&=/∋>

9∋&;9>>/∋9

&;,9�;::,/∋:

����
����
�����	������������	��∗�∗�	��	

���
��	��	��	��
����	����������������	0,,3
>�>;∋∋∋/∋∋

≅
��/�!����	����������!
�������
���0��
���
���
���
������
��	��	�
������
�	�������4�
/
−���
���
�
���
�
��
����



��� 
−	
�������������

����	
��
����



��� 
−	
����������≅
��
���4�������
��

�
�
������
�
��������	���
��
�
���
��
�
��

������
��−����
�����
�
�����
�
����!�
∀



9�+��

��	)	������������	∗�������	��	���∗�� ��

�����
�	∗�������	��	���∗�� �,

,	)	��������	0��	8 %1�∃�	Χ�����	.	 �1��1	Γ	 %76!1� 3

�−���������� �����

7�� �8��!
��4�������1�
�!�����


99 �8��!
���������1�
� 7�77

9? ∗�����������−������∀���−���	�����������
����−�	���∀ 7�77

�	
 ! ��∀����&�#������ ����∃ �∋��� ���∀���

�%8�∃1�1	���4865!�7�!5∃	)	�5�76

6

�	∋∋&	��������	�������	��	����
��� ∋/∋∋

,

�����	���	��������	���−����������	
�������

�������������� �����

�� ∃���
�������� ���
�����
�
�� 7�77

�7 ≅�����
��������������	��



����9� 7�77

�� ≅�����
���������
���������9� 7�77

�%8�∃1�1	�+!∃Ε�1�!11�∀�∃�	)�5�76

6

�	∋∋,	�����	�+�−�
�����	��∗���
	�������	��	����
��� ∋/∋∋

,

�����	���	��������	�+��������������	
�������

�8% 7�!5∃1	 %�66�1

0,3
�8% 7�!5∃1	�+5 � �	

0&3

�?>�77�77 �?>�77�77

�7>777�77 �7>777�77

=9=>777�77 =9=>777�77

��=>777�77 ��=>777�77

�:;&∋∋/∋∋ :∋∋;∋∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

�8% 7�!5∃1	 %�66�1

0,3
�8% 7�!5∃1	�+5 � �	

0&3

�7=>777�77 �7=>777�77

��>7=��79 ��>7=��79

�>9==>?���7� �>9==>?���7�

,;=��;::,/∋: &∋>;∋∋∋/∋∋ ,;�∋�;::,/∋:

,;�∋�;::,/∋:

����Ε����	����

���	����������

����
�����������8
�
����
���8��!
��
���
��	��������
��

���	����������/����
��
��+���!�����
�∀
����;����
���
��
���	����������/����
∀
�����
��
���
��
����
���
��������������
�����Β������������Β���
�����8�����
��
���
����������
��∀
�����
��8�	���
�� 
−���
�	���
�����∀
�=��∃��
����!�
��		
�0�
�

���!��
��
��	�������������!�����
�∀
�9��Φ�����8�	���
��Γ��	����������/�0��	
�
���Η∀
�:��∃
�
�

�����
��
���	���������	�������	�
��
���
�����!��
������
�������������

������
�∋��
−
�≅;�∋:��∀
�?���
��8�	���
�
−���
����0�
�
���
�������
������
��
�����∀



:�+��

��	)	������������	∗�������	��	���∗�� ��

�����
�	∗�������	��	���∗�� �&

&	)	��
�����	≅	0��	8 %1�∃�	Χ�����	.	 �1��1	Γ	 %76!1� 3

�−���������� �����

:7 ;
��
���
�	�������������0���<

:� ∃���
�������� 
−	
��������

:: ���������
−�
	�����

� 7�77

��2����1	���4865!�7�!5∃	)	�5�76

.

�	∋∋&	��������	�������	��	����
��� ∋/∋∋

∆

�����	���	��
�����	���−����������	
�������

�������������� �����

�� ∃���
�������� ���
�����
�
�� 7�77

�9 &�	������
���
��
��������
�
���������9??��������!�����
� 7�77

�� ≅�����
���������
������� 7�77

	( )∀��� ���∀��������� ∀∀�∗ # ��� ���

�	� ! ��∀�������#������ ����∃�%�#� ��� ��

��2����1	�+!∃Ε�1�!11�∀�∃�	)	�5�76

.

�	∋∋,	�����	�+�−�
�����	������
	�������	��	����
���

.

�

�
������	��−	
������	,∋= ϑ��
	Κ

∆

�����	���	��
�����	��	��������������	
������� ϑ��
	Κ

�8% 7�!5∃1	 %�66�1

0,3

�8% 7�!5∃1	�+5 � �

0&3

=7�>�77�77 =7�>�77�77

���>777�77 ���>777�77

�7=>777�77 �7=>777�77

=�9;&∋∋/∋∋ &∋>;∋∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

�8% 7�!5∃1	 %�66�1

0,3

�8% 7�!5∃1	�+5 � �

0&3

��?>?:��== ��?>?:��==

���>��7��� ���>��7���

�:=>��:�=9 �:=>��:�=9

=9=>777�77 =9=>777�77

��=>777�77 ��=>777�77

?�?;9,,/>∋ :∋∋;∋∋∋/∋∋ ,;>�?;9,,/>∋

9∋&;9>>/∋9



?�+��

��
����	���−����������

���	)	����	��	���∗�� ���

��
����	���−����������	)	������	���	�������� �,

7�� �8��!
��4�������1�
�!�����
��=���9�

9��: 2
�
����
� 7�77 7�77

9�: &���
��Ι��
�8
��8
�

9��9 Φ�������
�

9��? ∗��
��

9��� ∋�����
��Ι����
������ �77�77 �77�77

9��9 ����
�!�
��Ι���	����� =77�77 �77�77 �77�77

9�:? ∋���
����−
��Ι��
�
����
�

7�� �8��!
���
�	
�����

�
��������������
�� 7�77 7�77 7�77

7�� ∋�������������
�	���������:� 7�77 7�77 7�77

9= ∋���
���8��!
���
�!
�������������
 7�77 7�77 7�77

�����	∆	��������	��	∗������	���	�����
��

073	∆	0∋,,.∋,&.∋,�.=>3

99 �8��!
���������1�
��������?�

99�� ≅����.����
��
�	������Ι��
��
� 7�77 7�77

99��� ≅����.����
��&�	������
���
��
 7�77

��
��
����99�����=�

��������������
��≅�ϑ&��
�
/
−
����
�,<<<<<∀∀

��������������
�
/
−
����
�ϑ+��,<<<<<<<<

9: �8��!
��
−�
	�����



����� ∋/∋∋ ∋/∋∋ ∋/∋∋

9? ∗�����������−�	����
����−���	������������������ ∋/∋∋ ∋/∋∋ ∋/∋∋

9� ≅�	Κ�������

���������
��
��������
�
����
�����7� ∋/∋∋ ∋/∋∋ ∋/∋∋

�����	���	��������	�������	∆	7.Χ.2.�.�.#


Β78Λ7 

�	0,3

�!Χ�66%

0,3	

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093	

�5��

0�3	

=�>=77�77 �?>�77�77 �?>�77�77

�>=77�77

�=>777�77 �=>777�77 �=>777�77

�7>777�77 =>777�77 =>777�77

�7>777�77 =>777�77 =>777�77

�>=77�77

=>777�77 �>777�77 �>777�77

>�;>∋∋/∋∋ &:;&∋∋/∋∋ &:;&∋∋/∋∋

�>;∋∋∋/∋∋ &∋;∋∋∋/∋∋ &∋;∋∋∋/∋∋

�=>777�77

�7>777�77 �7>777�77

��;>∋∋/∋∋ �:;&∋∋/∋∋ �:;&∋∋/∋∋

����∗����


��

���8�	���
�����!�����
��	��������

�����������
������	
����
����	�
�����
����	���

���!�
∀
������∀��Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=��∃����

����	�
�9����
����������
�������8�	���
�7��∀
�9���
����	�
�
������0�
�
������
���
������∀
�:���
����	�
�
������0�
�
������
���
������
��
�����∀
�?���∃��

����������
��≅�ϑ&��
�
 
−
����
�
���������
���������������
�
 
−
����
�ϑ+���

����������
�
 �����

�99�����
�����!����∀
����∃��
����!�
��		
�0�
�

���!��
��
��	�����������
��+���!�����
���������0�
�	����
�������������−���	������������
������Β���
����������
��
���
�����8�����
���
�
��������
��
���
����

��������
�1�
���
�	
��
�
������−���	������������
�����	�
���
���
���
����−���	������������
�����	�
���������
��∀
��7���
��8�	���
�� 
−���
�	���
�����∀



��+��

���	)	����	��	���∗�� ���

��
����	�+�−����������	)	������	���	�������� �,

�	
 ! ��∀����&�#������ ����∃ �∋��� ���∀���

��	 ������ ����������������������������������� �����������

�(�� �����)∀��� ���+�� ∀∀���

��
 ������∃������&�#∃ ���� �+������ ����∃�%�#� ��� �� ∋/∋∋ ∋/∋∋ ∋/∋∋

���!∀�#∃%�#∃&∃∋%∃%�#��(#(∃

.

������	�	��������	�≅,	0?3	 ∋/∋∋

.

�	∋∋&	��������	�������	��	����
���	0?3 ∋/∋∋

∆

�����	���	��������	���−����������	
�������


Β78Λ7 �0,

3

�!Χ�66%

0,3

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

&�9;>∋∋/∋∋ &9>;∋∋∋/∋∋ &9>;∋∋∋/∋∋

�>∋;∋∋∋/∋∋ >=>;∋∋∋/∋∋ >=>;∋∋∋/∋∋

�=7>777�77 =9=>777�77 =9=>777�77

���!∀�#∃%�&(∃∀∃�∃)∃∋�%�!∗�&(�+,��#∃�∀!�%∃−�,�∋�
#�,∋�∃%�,%%∃)∃∋� =�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

=�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

�����	���	��������	���−����������	��	�+�−��
�
�	

0∆	�5�76	��1	58% 7�!5∃1	 %�66�1	��	��5 � �3
?�9;∋∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀��Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=����∀�����������������8�	���
��
���	����������/����
�������	����
�����
�9��∃��
����!�
��		
�0�
�

���!��
��
��	�������������!�����
�∀
�:��≅������
�
�������
��
	���
��
������
������
�
 
−
����
�	�����
�����	�1�����
�������	�
����������������������
	���
�������	�
��
������
�����∀



�7�+��

���	)	����	��	���∗�� ���

��
����	���−����������	)	������	���	��
����� �&

7�� ∋������������
��8��!
� ∋/∋∋ ∋/∋∋ ∋/∋∋

:7 ;
��
���
�	�������������0�����	�
��������

:79� 2
�
����
��� ������∀���


���� 7�77 7�77

:79�� 2
�
����
��� ������∀���


���� 7�77

:� ����������������
�
�������
�����9� ∋/∋∋ ∋/∋∋ ∋/∋∋

:� ∃���
�������� 
−	
��������

:�� ����
��� �	�������

:= ∋���
��	���������
�!
�������������
 ∋/∋∋ ∋/∋∋ ∋/∋∋

�����	∆	��
�����	��	∗������	���	�����
��

073	∆	?∋.?9.?�.?>.∋,9

:9 ����������������
������ ∋/∋∋ ∋/∋∋ ∋/∋∋

��
��
����:9��

���������
��≅�ϑ&��
�
/
−
����
�,

���������
�
/
−
����
�ϑ+��,

:: ���������
−�
	�����

����� ∋/∋∋ ∋/∋∋ ∋/∋∋

:? 2
	���
������	����������
��������	����������������:� ∋/∋∋ ∋/∋∋ ∋/∋∋

�����	���	��
�����	�������	∆	7.Χ.2.�


Β78Λ	

7 �0,3

�!Χ�66%

0,3

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

?>∋;∋∋∋/∋∋ >∋�;&∋∋/∋∋ >∋�;&∋∋/∋∋

:=7>777�77

=7�>�77�77 =7�>�77�77

�9;∋∋∋/∋∋ ,9�;∋∋∋/∋∋ ,9�;∋∋∋/∋∋

��>777�77 ���>777�77 ���>777�77

?�9;∋∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋

?�9;∋∋∋/∋∋ =�9;&∋∋/∋∋ =�9;&∋∋/∋∋

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
���		
�0���	���
����!�
∀
������∀�≅�Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=���
�������

�� 
−���
�	���
�����∀
�9���
��8�	���
�
−���
����0�
�
���
�����������
������∀
�:��∃��
����!�
��		
�0�
�

���!��
��
��	�����������
��+���!�����
���������0�
�	����
�������������−���	������������
������Β���
����������
��
���
�
����8�����
����
��������
��
���
����

��������
�1�
���
�	
��
�
������−���	������������
�����	�
���
���
���
����−���	������������
�����	�
��
�������
��∀



���+��

���	)	����	��	���∗�� ���

��
����	���−����������	)	������	���	��
����� �&

��	 ������ ����������������������������������� ������� ∋/∋∋

,,, −+����������+∗∋���.��∃ �∋��� 7�77

��
 �������������&�#� ���� �+�����#��������������������� ∋/∋∋ ∋/∋∋ ∋/∋∋

���!∀�#∃%�(∃−∃��∃%�#��(#(∃ ∋/∋∋

.

������	�	��������	�≅,	0?3	 ∋/∋∋

.

�	∋∋&	��������	�������	��	����
���	0?3 ∋/∋∋

∆

�����	���	��
�����	���−����������	
�������


Β78Λ	

7 �0,3

�!Χ�66%

0,3

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

�7=>777�77 �7=>777�77

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

�����	���	��
�����	���−����������	��	

���−��
�
�	0∆�5�76	��1	58% 7�!5∃1	 %�66�1	��	��5 � �3
?�9;∋∋∋/∋∋ :�:;&∋∋/∋∋ :�:;&∋∋/∋∋

:�:;&∋∋/∋∋

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀��Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
 ��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=�����∀�����������������8�	���
��
���	����������/����
�������	����
�����Λ������
��������
�
�9��∃��
����!�
����	���	����

��	�������������!�����
�∀
�:��≅������
�
�������
��
	���
��
������
������
�
 
−
����
�	�����
�����	�1�����
�������	�
����������������������
	���
�������	�
��
������
�����∀



���+��

��
����	�+��������������

���	)	����	��	���∗�� ���

��
����	�+��������������)	������	���	�������� �,

�7 ≅�����
��������������	��



���8�����	��������� 7�77

�7��� &���
�2�8���
����������
����!
 7�77

�� ≅�����
������������	��



���8�����	��������� 7�77 7�77 7�77

�� ≅�����
����������
∆�
��
�����
���������8�����	∀� 7�77 7�77 7�77

�� ≅�����
���������
���������8�����	���������

���=�= %��−�∃�������� &	������� 7�77 7�77

���=�? �����������	����������− 7�77 7�77

���=��= %��−�������

��∋��������
�
�� 7�77 7�77

���=�� ����∀�ϑ���∀����
���!��������
 7�77 7�77

���=�= %����
�
�������1�
�������!
� 7�77 7�77

���=�9 2����������
��
��−�	������
� 7�77 7�77

���=�: ���!∀�∋���∀��77� 7�77

���=�? %��−�∃���������
����!
 7�77

#	��������� �0��	
�
����Μ����
�!�
�	����	∀���=� 7�77 7�77 7�77

�5�76	��1	�%8�∃1�1	�+%Η�!8�∀�∃�

�7 ∗�������������������
���
�����
��
� 7�77 7�77 7�77

�� ∃���
�������� ���
�����
�
�� 7�77 7�77 7�77

�9 &�	������
���
��
��������
�
�

�9�� &�	������
��
���

�? ���	�
���
�
������������
��������4< 7�77 7�77 7�77

�9 �������	�������
��������
��������8�
��4��
��	������	∀ 7�77 7�77 7�77

�: ∋���
��������
����������������1�
� 7�77 7�77 7�77

�5�76	��1	�%8�∃1�1	#!∃7∃2!Ι �1

�=<� #	∀�	�������	�
��
���
����Μ<����
�!�
�	����	∀���9�

�5�76	��1	�%8�∃1�1	�+58% 7�!5∃1	85� 	25∀8��	��	�!� 1 ∋/∋∋ ∋/∋∋ ∋/∋∋

�����	��������	�������


Β78Λ	

7 �0,3

�!Χ�66%

0,3	

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

+�:>=77�77 +�:>=77�77

+�:>=77�77 +�:>=77�77

=?9>�=9�=� ��=>=77�77 ��=>=77�77

�9>777�77

+���>:����9

97>777�77

�77>777�77

�=7>777�77

=77>777�77

??>777�77 ??>777�77

�:>=77�77 �:>=77�77

>:=;&>=/>� ::;∋∋∋/∋∋ ::;∋∋∋/∋∋

=�7>777�77 ��=>777�77 ��=>777�77

=�7>777�77 ��=>777�77 ��=>777�77

>,∋;∋∋∋/∋∋ &9>;∋∋∋/∋∋ &9>;∋∋∋/∋∋

,;∋�=;&>=/>� 9&9;∋∋∋/∋∋ 9&9;∋∋∋/∋∋

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀�≅�Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=��;���������≅≅≅(��	����

������
��
���	���������� �0��	
�
��∀
�9��;�������
−
�≅;�∋�:�	����

������
��
���	���������	�������	�
��
���
��∀



���+��

���	)	����	��	���∗�� ���

��
����	�+��������������	)	������	���	�������� �,

��� ������ �������������������������������� �������� ∋/∋∋

���� �����+���+��� �����∀��������� �+����� ∋/∋∋

������ )/��������#∃��+ 7�77

����� ��/ ��� 7�77

����� �������∀���� 7�77

����? )+���� 7�77

01��/��������������� ∋/∋∋ ∋/∋∋ ∋/∋∋

��� ������ �������� ∀�� �#����,� ∋/∋∋ ∋/∋∋ ∋/∋∋

���!∀�#∃&∃∋%∃%�#��(#(∃ ∋/∋∋

.

������	�	��������	�≅,	0:3	

.

�	∋∋,	�����	�+�−�
�����	��∗���
	�������	��	����
���	0:3 ∋/∋∋

∆

�����	���	��������	�+��������������	
�������


Β78Λ	

7 �0,3

�!Χ�66%

0,3

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

��>777�77 ��>777�77

=�>777�77 =�>777�77

�7>777�77 �7>777�77

��7>777�77 ��7>777�77

&∋>;∋∋∋/∋∋ &∋>;∋∋∋/∋∋

�����	���	��������	�+��������������	��	

�+�−��
�
�	0∆	�5�76	��1	�%8�∃1�1	 %�66�1	��	�+5 � �3
,;∋�=;&>=/>� >&:;∋∋∋/∋∋ >&:;∋∋∋/∋∋

,;=,,;::,/∋:

&;,9�;::,/∋:

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀�≅�Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=����∀�����������������8�	���
��
���	����������/����
���
������������	�
�9��∃��
����!�
��		
�0�
�

���!��
��
���	�������������!�����
�∀
�:����∀�����������������8�	���
��
���	����������/����
���
��������
�����
�?��≅������
�
�������
��
	���
��
������
������
�
/
−
����
�	�����
�����	�1�����
�������	�
����������������������
	���
�������	�
��
������
�����∀



���+��

���	)	����	��	���∗�� ���

��
����	�+��������������	)	������	���	��
����� �	&

�� ∃���
�������� ���
�����
�
�� 7�77 7�77 7�77

�9 &�	������
���
��
��������
�
�

�9�� &�	������
��
���

�7 ≅�����
��������������	��



� 7�77 7�77 7�77

�� ≅�����
������������	��



� 7�77 7�77 7�77

�� ≅�����
����������
∆�
��
�����
������� 7�77 7�77 7�77

�� ≅�����
���������
�������

���=�= %��−�∃�������� &	������� 7�77 7�77

���=��= %��−�������

��∋��������
�
�� 7�77 7�77

���=�� ����∀�ϑ���∀����
���!��������
 7�77 7�77

���=�= %����
�
�������1�
�������!
� 7�77 7�77

���=�9 2����������
��
��−�	������
� 7�77 7�77

���=�: ���!∀�∋���∀��77� 7�77

�5�76	��1	 �2����1	�+%Η�!8�∀�∃�

�7 ∗�������������������
���
�����
��
�

�79 2��
��
�

�? ���	�
���
�
������������
���������4 7�77 7�77 7�77

�9 �������	�������
��������
��������8�
��4��
��	���∀ 7�77 7�77 7�77

�: ∋���
��������
����������������1�
� 7�77 7�77 7�77

�5�76	��1	 �2����1	#!∃7∃2!Ι �1

�=<� #	��	�������	�
��
���
����Μ<���
�!�
�	����	�����=�

�����	���	��
�����	�������


Β78Λ	

7 �0,3

�!Χ�66%

0,3	

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

���>�=:��: +?�>�99�?? +?�>�99�??

���>�=:��: +?�>�99�?? +?�>�99�??

�==>777�77 ��>777�77 ��>777�77

=>777�77

�7>777�77

�:>777�77

��>777�77

?�>777�77

��>777�77 ��>777�77

�=�;�>?/&? ≅?>;�==/:: ≅?>;�==/::

9�>??7�7� ��7>����== ��7>����==

9�>??7�7� ��7>����== ��7>����==

=9;::∋/∋� &�∋;&,�/>> &�∋;&,�/>>

>99;99?/9, ,=�;?�?/=? ,=�;?�?/=?

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀�≅�Α�����
������
����
∀
����Φ�����
��
��4����
��
�∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=���;�������
−
�≅;�∋�:�	����

������
��
���	���������	�������	�
��
���
��∀



�=�+��

���	)	����	��	���∗�� ���

��
����	�+��������������)	������	���	��
����� �&

�	� ! ��∀�������#������ ����∃�%�#� ��� ��

���

	(�
� 2�� ���∃��+��� 7�77 7�77

	(�	� 3���� ����+� 7�77

	(�
�� 45����∃�%�#� ��� �� 7�77

	(�
�� 45����∃�%�#� ��� �� 7�77

	(��
	 �����+%��∃���� � ���∀��� 7�77

��� ������ �������� ∀�� �#����,� ∋/∋∋ ∋/∋∋ ∋/∋∋

���!∀�#∃%�(∃−∃��∃%�#��(#(∃

.

������	�	��������	�≅,	0:3	

.

�	∋∋,	�����	�+�−�
�����	������
	�������	��	����
���	0:3

∆

�����	���	��
�����	��	��������������	
�������


Β78Λ7 

�0,3

�!Χ�66%

0,3

�5� 	∀%∀5! �

������	�	0&3

� 5851!�!5∃1

∃5�Ε�66�1	093

�5��

0�3

���>=77�77 ��=>777�77 ��=>777�77

������ ��������������������������������� ����������� �>∋;∋∋∋/∋∋ >=>;∋∋∋/∋∋ >=>;∋∋∋/∋∋

�=7>777�77

�>777�77 �>777�77

��>777�77 ��>777�77

��>777�77 ��>777�77

=�7>777�77 =�7>777�77

���!∀�#∃%�&(∃∀∃�∃)∃∋�%�&(��∃∋!∋��#∃�∀!�
%∃−�,�∋�#�∃.&∀�,�!�,�∋ =�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

=�9;>∋∋/∋∋ :∋∋;∋∋∋/∋∋ :∋∋;∋∋∋/∋∋

�����	���	��
�����	�+��������������	��	

�+�−��
�
�	0∆	�5�76	��1	 �2����1	 %�66�1	��	�+5 � �3
,;&&=;:9?/9, �=�;?�?/=? �=�;?�?/=?

:?&;??:/9:

9∋&;9>>/∋9

&;,9�;::,/∋:

����∗����


��

���8�	���
�����!�����
��	��������

����������
������	
����
����	�
�����
����	���
����!�
∀
������∀���Α�����
������
����
∀
����Φ�����
��
��4����
��
��∀
����)
����
��
�
/��!��
���
��������	���
����0�
�
�������

��	��	�������������



�∀
�=����∀�����������������8�	���
��
���	����������/����
���
�������������
�9��∃��
����!�
��		
�0�
�

���!��
��
��	�������������!�����
�∀
�:����∀�����������������8�	���
��
���	����������/����
���
��������
����∀
����≅������
�
�������
��
	���
��
������
������
�
/
−
����
�	�����
�����	�1�����
�������	�
����������������������
	���
�������	�
��
������
�����∀


	EXTRAIT DU REGISTRE DES DELIBERATIONS
	Absent ayant donné pouvoir
	Rapport de Daniel LE COUVIOUR
		LE MAIRE

	P0
	P3
	P4
	P5
	P6
	P7
	P8
	P9
	P10
	P11
	P12
	P13
	P14
	P15

